Confetti Crush	M022 scoring rubric
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1.	Students should realize that the correction to 4 million tons, or 8 billion pounds, is still outrageously high. This is merely an order of magnitude of about 10 less than the original; the equivalent weight of one car striking each person! A local science teacher estimated that the 8 billion pounds of confetti would have covered a square kilometer of area, which is quite a bit larger than to area of Times Square, to a depth of 16 feet! The actual amount of confetti is most likely in the range of 3 to 4 tons.


2.	Four million tons spread over 2 million people is equivalent to 2 tons, or 4000 pounds per person. Some examples of things weighing about 4000 pounds would be 


a block of ice  4 feet on a side (a cubic foot of ice weighs about 62 pounds)


a helicopter


a pile of twenty football players            





�
partial level (1 or 2)�
full level (3)�
�
Modeling/�Formulating


(weight: 2)�
Student has an unclear mental model of the information, and feels that the error has been corrected,


 or


Student is unable to formulate another measure in question 2.�
Student has a clear mental image of all the quantities involved, and is also able to formulate a different measure in question 2.�
�
Transforming/�Manipulating


(weight: 2)�
Student correctly makes some of the conversions from pounds to tons.�
Student makes all conversions, and expresses all equivalents correctly.�
�
Inferring/�Drawing Conclusions


(weight: 3)�
Student is able to make only partial connection between the original data and the corrected data, and is not able to make a generalized statement about the measures under consideration.��
Student sees the connection between the original data and the corrected data, and is able to generalize to a complete answer to question 1.�
�
Communicating


(weight: 2)�
Answers to questions 1 and 2 are incomplete or unclear.�
Answers to questions 1 and 2 are complete, clear, and creative.�
�
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